AT iR

100 (nGy/h) (mm/hi20
80 1 100
1 80
1 60
40 E M 1 40
20 1 || 1 20
0 i i P ‘ (S "I L a ra L. . 0
4H 5A 6A
100 (nGy/h) (mm/h)IZO
80 1 100
1 80
60
40
20
0
(nGy/h) (mm/h)
100 120
80 1 100
1 80
60
1 60
40 be, IJLL LMMLMWM
1 40
201 l 120
0 . 4. 1 e l " - IJ... i L da 0
104 118 124
(nGy/h) (mm/h)
100 120
80 1 100
1 80
60
40 I S
1 40
20 1 20
L. l 4 a )| | T A i a N
0 0
1A 2R 3A
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#ArE™ BPDMER

100 (nGy/h) (mm/hi20
80 r 1 100
1 80
60
40 f I
1 40
20 B I_‘I { 20
0 i L I ‘ l u l 1 4 - | - JI. l 0
4R 5A 6A
1Oo(nGy/h) (mm/h)IZO
80 100
60
40 F
20 1
0
(nGy/h) (mm/h)
100 120
80 1 100
1 80
60 r l
| h |i ‘ 1 * 1 60
40 f el
1 40
20 \ 20
O N .l . I[ 1 l II. - .‘ b la. 0
108 11A8 12R
(nGy/h) (mm/h)
100 120
80 100
80
60 r
40 r
1 40
20 20
[N L 4 a l | ST PO |
0 0
1R 2R 3R
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Bz R HEAG/DPE

100 (nGy/h)

(mm/ hi

20
80 1 100
1 80
60 F |
h 1 60
40 o
1 40
20 1 || 1 20
4K 5A 6A
100 (nGy/h) (mm/h)120
80 1 100
1 80
60
' | I m “L 1 60
| ntmrmnm i h o nnhin. Ao
40 f
1 40
O | 1 20
0 L Wi 1 J.a il L llLl IIJ 0
7R 8AH 9A
(nGy/h) (mm/h)
100 120
80 1 100
1 80
60
MWH*JW 60
40
1 40
20 1 90
0 A . A . N il k i 0
10A 118 12R
(nGy/h) (mm/h)
100 120
80 1 100
1 80
60
40
1 40
20 1 1 9
1 L 4 a N L NP | -
0 0
1R 2R 3R
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™ HERE 52—

100 (nGy/h)

(mm/ hi

20
80 1 100
1 80
60
40
1 40
20T ‘l 1 20
0 d i & J 0
4K 5A 6A
100 (nGy/h) (mm/h)120
80 1 100
1 80
60
A_‘AJMJ\L JM..J-J«_J—.MA.A-\/\—MLM o0
40 lnoah [P PN A VR T
1 40
20 1 J 1 20
0 4 IL 1 L ‘l ll. An III ll 0
1R 8A 9A
(nGy/h) (mm/h)
100 120
80 1 100
1 80
60
40
1 40
20 1 20
O Fl I Y .I. | J N r'| d. 0
10A 1A 12R
(nGy/h) (mm/h)
100 120
80 100
1 80
60
40 MMMJMJ N A_A l_ _AV\MT]L_,\M“._L_.J 60
1 40
20 B 20
0 s | il | Y R | . 0
1A 28 3A
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R M

100 (nGy/h) (mm/hizo
80 1 100
1 80
60 r
1 60
40
1 40
20 1
0 i
Gy/h
1Oo(n v/h)
80
60 r
40 MR —
20
O A IL
(nGy/h) (mm/h)
100 120
80 1 100
1 80
60 r
MMWMMM 60
40 f
1 40
20 1 I 1 20
0 \ A L 1 | J ' 0
10A8 1A 12R
(nGy/h) (mm/h)
100 120
80 1 100
1 80
60 r
10 F )
1 40
20 1 1 20
O ha 1 4 . ] l ‘. b l - 0
1A 2R 3A
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neT T

100 (nGy/h) (mm/hi20
80 1 100
1 80
60 r
40
1 40
20 1 h 1 20
0 d i & 1 L u I 1 A L a . lll 0
4R 58 64
1OO(nGy/h) (mm/h)120
80 100
1 80
60
S
1 40
20 J ‘ 1 20
O s 1A l.ua l.-l. ' Jl 1. add 0
7R 8H 9A
(nGy/h) (mm/h)
100 120
80 1 100
1 80
60 r
40
1 40
0 i k i | .I- F I S 0
10H 114 12H
(nGy/h) (mm/h)
100 120
80 100
80
1 60
1 40
20 B 20
1 L & a i| | - i .
0 0
1R 2R 3A
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AT T R AL P

100 (nGy/h) (mm/hizo
80 1 100
1 80
60 k . W
ML_ 60
40 n
1 40
20T 1 20
A A o
4R 58 6A
100 (nGy/h) (mm/h)120
80 1 100
1 80
60
40 F
1 40
201 ‘ | ‘ | | 120
0w Ld 1 li ,_L ol 0
7H 8A 9A
(nGy/h) (mm/h)
100 120
80 1 100
1 80
60
MWWM 60
40 F
1 40
20 20
I l A . N . d 1 J|
0 10A 1A 12 ’
(nGy/h) (mm/h)
100 120
80 100
80
60
40 o
1 40
20 90
. Jd. T B U |
0 0
18 28 3A
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@I KR

100 (nGy/h) (mm/hizo
80 1 100
1 80
60
40 Aol
1 40
20 T I 1 20
0 d 1 i a J 0
4R 58 6A
100 (nGy/h) (mm/h)120
80 1 100
1 80
60
1 60
40 bkt ﬂMULmMWHMMW“M
1 40
20 l { 20
0 l I..‘. I [ Jn .|L 1 iJ_lL- ll e A l.l a 0
1R 8A 9A
(nGy/h) (mm/h)
100 120
80 1 100
1 80
60 r
40
1 40
20 20
l A L | oA F 4
0 108 118 128 ’
(nGy/h) (mm/h)
100 120
80 100
1 80
1 60
40 Mlﬁi
1 40
20 r 1 20
0 A ] a d - i h 0

18

3A
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FNith FNIHKE R

100 (nGy/h) (mm/hi20
80 1 100
1 80
60 n N \
MMW,M 60
40
1 40
201 | 1 20
0 i 1 l.- j l_h l. N 4 b Ll . I.l 0
4R 5AH 6A
100 (nGy/h) (mm/h)IZO
80 1 100
1 80
60
40
1 40
2007 | || 1 20
0 J_LII l I* Il- Lia 0
1R 8H 97
(nGy/h) (mm/h)
100 120
80 1 100
1 80
60
rmwm¢JM&JWwJﬁwm*lemWMmmWMmNMLJMLAL4L4A.a60
40
1 40
20 1 20
I a T | J F I
0 108 1A 12 ’
(nGy/h) (mm/h)
100 120
80 100
1 80
» MJMM
" l.[LM«Ij‘_AL_LLMMAﬂmJJ_ﬂUA: 60
40
1 40
20 20
0 \ P | " PR M | - -
1R 2R 3A
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(4) MEEKRE
BT : mGy

EN TR T Al A W EE
?; Pk 30 423 H 14 H~ | k30 426 H 20 H~ | EAk 30 429 A 13 H~ |FR 30 £ 12 A 19 H~
8 Hi 54, TR 3046 A 19H | Fak30F9H 12 H | Frk 30412 H 18 H | Frk 3143 H 18 H
*x (98 ATHEH) (85 A fHFH) (97 A fH L) (90 A fE LK)
¥ I g I3 R IS e I i
L e 1Y o i w1 = 0.15 - 0.13 - 0.15 - 0.13
2 2 JFUAAR = 0.17 - 0.14 - 0.17 - 0.15
3 Z AR = 0.15 = 0.13 = 0.15 = 0.14
4 vE I = 0.15 = 0.13 = 0.14 = 0.13
17 kAR = 0.17 - 0.15 - 0.17 - 0.15
18 = = 0.16 = 0.14 - 0.16 - 0.15
19 LA 0.17 0.16 0.14 0.15 0.16 0.16 0.15 0.15
21 R R = 0.16 = 0.14 = 0.16 = 0.15
22 o = 0.18 = 0.16 - 0.18 - 0.17
23 (I b 22 V2 0.16 0.16 0.14 0.14 0.16 0.16 0.15 0.15
24 RS = 0.16 - 0.14 - 0.16 - 0.15
25 Ko 45 = 0.16 = 0.14 = 0.15 = 0.14
26 U = 0.15 = 0.13 = 0.15 = 0.14
27 Ya 58T = 0.16 = 0.14 - 0.16 - 0.15
28 bl = 0.16 - 0. 14 - 0.16 - 0.15
29 £ = 0.15 = 0.13 = 0.15 = 0.14
30 % A = 0.15 = 0.13 = 0.15 = 0.14
31 TR = 0.15 = 0.13 = 0.15 - 0. 14
32 L PR AVER = 0.15 = 0.13 = 0.15 = 0.14
33 (R v=y = 0.16 = 0.14 = 0.16 = 0.14
34 Lo 0.15 0.15 0.13 0.13 0.15 0.15 0.14 0. 14
35 BT 0.18 0.17 0.15 0.15 0.17 0.18 0.16 0.16
36 o WS RAH = 0.16 = 0.14 = 0.16 - 0.15
58 56 4 0.16 0.16 0.14 0.14 0.16 0.17 0.15 0.15
38 7 = 0.14 - 0.13 - 0.15 - 0.13
39 b R = 0.16 = 0.14 = 0.16 - 0. 14
40 RN = 0. 14 = 0.12 = 0.15 - 0.13
41 & L - 0.16 - 0.14 - 0.16 - 0. 14
42 FA R 0.16 0.16 0.14 0.14 0.16 0.16 0.15 0.15
43 R - 0.18 - 0.16 - 0.18 - 0.17
44 H W - 0.14 - 0.13 - 0.14 - 0.13
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HANL : mGy

EN 0 E HL W E AE
fﬁ TRk 30 E3 A 14 A~ | FA304F6 H 20 B~ | P30 £ 9 A 13 A~ ¥Rk 30 F 12 A 19 A~
8 H5 4, SERL 3046 A 19 H qzﬁi?SO@QHlZEI WRE 30412 A 18 H | ¥Rk 3143 A 18 H
% (98 A FEFE) (85 H FEFE) (97 H FEFE) (90 A FEFH{E)
A5[EIRTIR T 35 = 0.15 = 0.14 = 0.15 = 0.14
46 Wl 0.16 0.16 0.14 0.14 0.16 0.15 0.14 0.14
47 VNI F/NES 0.16 0.15 0.13 0.13 0.15 0.15 0.14 0.14
48 B4 = 0.16 = 0.14 - 0.16 - 0.14
49 TR RN R 0.16 0.15 0.13 0.14 0.15 0.15 0.14 0.14
5 & 15 0.15 0.15 0.13 0.13 0.15 0.15 0.13 0. 14
6 g = 0.15 - 0.13 - 0.16 - 0.14
7 EEEURE - 0.16 - 0.14 - 0.16 - 0.15
8 T T 0.16 0.16 0.14 0.14 0.16 0.16 0.14 0.14
9 mR = 0.14 - 0.12 - 0.14 - 0.13
10 BEOR - 0.16 - 0.14 - 0.16 - 0.14
11 oL 0.16 0.16 0.14 0.14 0.16 0.16 0.15 0.15
12 im R = 0.14 = 0.12 = 0.14 - 0.13
L3Pz i Y By 57 H 0.14 0.14 0.12 0.12 0.14 0.14 0.13 0.13
14 HiBE 5 R H = 0.14 = 0.12 = 0.14 = 0.13
15 HIUE 5 /N 0.16 0.16 0.14 0.14 0.15 0.16 0.14 0.14
16 [ H15E )7 R £ = 0.16 - 0. 14 - 0.16 - 0.15
20 M & = 0.16 = 0.14 - 0.16 - 0.15
50 B LR B = 0.16 - 0.14 - 0.16 - 0.15
51 A A R 0.16 0.15 0.13 0.14 0.15 0.15 0.14 0.14
52 FH R T 0.16 0.16 0.14 0.14 0.16 0.15 0.14 0.14
53| HUINF TNk 0.17 0.17 0.14 0.15 0.16 0.16 0.15 0.15
54 NS0 = 0.16 = 0.14 = 0.16 - 0.14
55| A1 FALLUBEAERT 0.15 0.15 0.13 0.14 0.15 0.15 0.14 0.14
56 AGEEBT - 0.16 - 0.14 - 0.16 - 0.15
57 HU N - 0.15 - 0.14 - 0.15 - 0.14
%t | FEMf 0.14 0.14 0.12 0.13 0.14 0.14 0.13 0.13
i{i BT AT 0.13 0.13 0.12 0.12 0.13 0.13 0.12 0.12
| BT ke 0.18 0.18 0.15 0.16 0.17 0.18 0.16 0.16
ANTE R I ET 0.14 0.14 0.12 0.12 0.13 0.13 0.12 0.12
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2 BRELGEEHR OB RE

(1) ‘&7 NVT77 - &X—Z e (FilEE)

O HEEFETINVT 7 - &—XHHEER BT . —
N M EfE . M EAE
T E Hh R A4 A o | el T E Hh 4 H o | il
4 H *1) 3.6 4 H * 3.1
51 * 3.5 5H * 3.1
6 H * 3.4 6 H * 2.9
7H * 3.6 7H * 2.7
8 H * 3.5 8 H * 3.0
N RTIR T 9 H * 4.0 VAT 9 A * 3.4
SE7% 10 H * 3.9 EPRYINE 5] 10 A * 3.2
11 A * 4.0 11 A * 3.3
128 29 4.0 12 A 2.4 3.4
1H| 2.9 3.9 1A 2.3 3.1
2 A 2.8 3.7 2 A 2.3 3.2
3| 2.3 3.6 3 A 2.4 3.5
4 A 2.2 3.1 4 H * 3.1
5 A * 3.2 5H * 3.3
6 * 3.4 6 H * 2.9
7H * 3.9 7H * 2.8
8 H * 3.3 8 H * 3.1
AR T 9 H * 3.3 Bz s 9 A * 3.8
T 10 H * 3.4 HFE 5 /N 10 A * 3.3
11 A * 3.3 11 A * 3.6
12741 2.3 3.1 12 A 2.5 3.6
1A 2.3 3.2 1A 2.5 3.3
28| 2.3 3.2 21 2.4 3.3
3A| 2.3 3.2 3 A 2.3 3.4
4 H * 3.4
54 * 3.9
6 H * 4.2
7H * 3.9
8 H * 3.9
VR T 9 A * 3.7
V5 10 A * 3.7
11 A * 3.6
124 2.5 3.5
1A | 2.5 3.5
2H | 2.6 3.5
3| 2.6 3.6
VELD D) X, TLTD : MRS RN 2R,
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@ SHEFTOE—Z S EE

BT : Bg/m’

N— W E il N I E R
) 7E Ho sS4 A o | e T 7E Hh 54 H YN AR
4 A ! 5.9 4 H * 5.4
5H * 6.6 5 A * 7.0
6 A * 5.6 6 A * 6.7
;| * 9.4 7H * 7.3
8 H sk 8.2 8 A * 6. 4
TR T 9 H * 7.1 TEVRITIRY T 9 A * 4.6
ERT% 10 H * 8.5 FUP/ VAR 10 H * 5.6
11 A * 8.5 11 A * 5.8
12 A 2.5 8.2 125 | 0.22 6.6
1 A 0.71 9.5 1H | o0.67 6.9
2 A 0.85 8.2 2H | 0.78 5.4
3 H 0.12 9.7 3H | 0.11 4.7
4 A 0.16 6.1 4 A * 6.0
5H * 6.0 5H4 * 6.4
6 A * 5.1 6 H * 6.1
;| * 9.0 7H * 7.1
8 A 2 7.6 8 A * 5.9
EIHITIG T 9H * 6.9 Yoz 9 H * 4.5
T 10 A * 8.4 HBBE ST /A 10 A * 5.3
11 H * 8.7 11 A * 7.0
12 A 0.58 8.7 127 0.21 7.1
1 A 0. 65 9.1 1H | 0.63 6.8
2 A 0.76 8.3 2H | 0.75 6.0
3 H 0.12 9.7 3H | 0.11 5.2
4 A * 6.3
5H * 6. 4
6 A * 5.6
7 H * 7.8
8 A * 7.2
R T 9 A * 5.7
Y5 10 A * 5.7
11 A * 6.7
12 A 0.24 7.6
1A 0.75 8.0
2 A 0. 88 6.2
3 H 0.13 6.1

L) T %, TLID :

BHBRAA ] 22T,
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@ SEEERT 6 R O &~ — X HATRE

BT : Bg/m’

N W E A . W E A
T T i A 4 A Oy R ) E Hh S 4 H SO | R
4 H ) 0.25 | * 0.11
5H * 0.26 5 A * 0.14
6 A * 0.15 6 H * 0. 089
7 H sk 0.21 7H * 0.13
8 H * 0.25 8 A * 0.11
AEVRITIRE 9 H * 0.15 T BT TR 9 A * 0.071
b 10 A * 0.14 ERERIERA 10 A s 0. 062
11 A * 0.19 11 A * 0. 082
12 A 2 0. 14 12 A * 0. 052
1 A * 0.20 1H * 0.071
2 A s 0.25 2 A * 0. 088
3 H * 0.20 3 H * 0. 085
4 A * 0.23 4 A * 0.29
5 H * 0.18 5 H * 0.20
6 H ¢ 0. 098 6 H * 0.15
7H * 0. 14 7H * 0. 14
8 H * 0.19 8 A * 0.17
ENRITIRT T 9 H s 0.13 Bz Rt 9 H s 0.13
T 10 A * 0. 14 HEE 5 /N 10 A * 0.19
11 H * 0.16 11 A * 0.22
12 A * 0.16 12 A * 0. 084
1 A sk 0.17 1A * 0.21
2 A * 0.21 2 A * 0.16
3 H * 0.19 3 H * 0. 24
4 A * 0.17
5 H * 0.19
6 A 2 0.11
7H * 0.18
8 H * 0.18
R T 9 A * 0.10
55 10 A * 0.12
11 A * 0.12
12 A * 0. 090
1A * 0. 098
2 A * 0.12
3 H * 0.13

VEL1D D) %, TLTD :

FBHRAAG M | 25T,
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(2) KT
T RS (2~ B )

O FibEE EAT : mBg/m’
T%Eyfm)ﬁ% T%Ey/ﬁﬁﬁfﬁ 54Mn SEJFe GOCO EJSZI, é)SNb 134CS 137CS 144ce
3084 H 2 H~304 4 A 30 H * * * * * * * *
3045 H 1 H~304 5 H 31 H % * * * * % % *

304£6 H1 H~304E 7TH1H % * * * % * * %

304 7TH 2H~304 7H31H * * * * * * * %

304 8 1 AH~304 94 2 H % * * * % * % %

MIETFT | 304 9H 3 H~30410H 1 H * * * * * % % %
B ® | 304107 2H~30410 431 A * * * % * % [0.0002| =
30411 H1 AH~304E12 H 2 H % * * * % * % %

30412 H3 A~314 1 H3H * * * * * * % %
SIHFE1H4H~3141H 31 H % * * * * * % %
3142 1 H~3142H 28 H * % * % % * * %k

143 H1H~3143H31H % * * * * % % %

3044 H2H~304 4 H 30H * * * * * * % *
3045 H 1 H~304 5 H 31 H * * 2 * 2 * ES ES

3046 H1H~304 7H1H % * * * % * 0.010 %

304 7TH 2H~304 7H 31 H % * * * % * * *

304 8 H 1 H~304 9H 2H ¥ * * * * % £2 *

HETET | 304 94 3 A~304 104 1A % * * * * * * *
HOMT 1 30410 H 2 A~304E 10 H 31 A * * * * * * * *
3011 H1 H~304 12 H 2 H % * * * * % % *

30412 H3 A~314 1 H3H % * * * % * % %

3141 H4H~3141H 31 H % * * * * * * *

S1H2H 1 H~3142H 28 H % * * * % * 2 E2

313 H1H~3143 H31H * * * * % % % %

3044 H 2 H~304 44 30 H % * * * * * * *

305 H1 H~304F 5 H 31 | % * * * % * % %
3046 H1 H~304% 7TH 1H * * * * * % % %

304 7TH 2H~304 7H 31 H * * * * * * % *

304 8 H 1 H~304 9H 2H % * * * * * % %

MFTETE | 304E 9H 3 H~304E10 H 1 H * * * * % * * %
¥ % | 30410 H 2 A~30410 A 31 A * * * * * * * *
3011 H1HE~30412H2H * * % * % * % ES

30412 H3 H~314 1 H 3 H ¥ * * * * * % %

314F1 H4RA~3141H 311 % % % * sk * * *

S1H2H 1 H~3142H 28H % * * % * k |0.0083| sk

3143 A1 H~3143A31H % * % * % % % %

w1 kg i, IND: B ENT) 257,
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EEA7 : mBg/m®

ﬁéﬁﬂi&,ﬁ% T%E‘y/ﬁ;qﬁzﬁ 54Mn 59Fe 60CO QSZI, 95Nb 134CS 137CS 144(:e
3044 42 A~304 4H30H e % % % * sk * %
304E5 H 1 H~304 5 H 31 H * * * * * % * %
3046 A1 H~304 7H1H * * * * * * * *
3042 7H 2H~304 7H 31 H % % * * * * * %
304 8 H 1 H~304 9H 2H % * * * * % % 2

FARETIRTT | 304 9H 3 H~304E10H 1 H % * * % * * * *

FOR/INERR | 3042 10 1 2 H~304E 10 31 A * * * * * * * *
30411 H1 AH~304E12 H 2 H % * * * * % * *
3012 H3 H~314 1 H3H * * * * % * * *
314E1 H4H~3141H 31H % * % % % 2 * 3
S142H 1 H~3142H 28 H % * * % * * * 2
314E3 A 1 A~314£3 H 31 H * % * % % % * %
3044 7 2 H~304F 4 /] 30 A 3 * * % * £ * %
304£5 H 1 B~304 5 H 31 H * * * * * % % 2
3046 H1H~304 7H 1H * * * % * * * *
304 7H 2H~304 7H 31 H * * * * * * X sk
304 8H 1 H~304 9 A 2 H * * * % % 3 % %

WezJimi | 304 9H 3 H~30410H 1H % % * % % 3 * %

WES/NFE | 3048 10 A 2 A~30 45 10 A 31 A * * * * % * * *
30411 H1 H~304E12 H 2 H % * * % * % * %
3012 A3 H~314 1 A3H * * * * * * * *
11 H4H~3141H 31 H * * * % * * * sk
31 2H 1 H~3142H 28 H % * * % * % % 2
SIHE3H1H~3143 A 31 H % * * % * * * %k

ED O Tk iE, IND: ST 2RI,
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@ KT HAT : Bg/m”

BRI 4 PR BIERERE| “Mn | “Fe | ®Co | ®Zr | ®Nb | "™Cs | "Cs | "Ce
304 43 2H IS * * * * * * * *

~304 4 A 30H g % % % % % % 0.37 *

304650 1 H =X % % % * * % % %

~304 5 A 31 H g * * * * * % % %

304 6 H 1 H oS * * * % % % % %
~3047HI1H g * * * * * % * %

3046 7TH 2H [I=X % % % * % % % *

~304 7 A 31 H HE % * % * %k % 10.061 | sk

3045 8 A 1 H JI=X * * * * * % 10,079 | 3k

~304- 9H 2H s % * * * * % | 0.068 | *k

304 9 A 3 H JI=8 % % % * * % 10.083 | sk

ERTIR T ~304 9 A 30 A R * * * * * % 0.000 | *
HLHT H 3045 10 1 H 1=K * * % % % * * *
~304F 10 H 31 H E * * % * % % * %

3046 11 H 1 H JI=8 * * * * S % % 2

~304E 12 H 2 H i * * 3 * S % % S

304 12 H 3 H [ * * * * % * 10.084 | *x

~314 1A 3H E * * % * % % 0.12 | =k

3141 H4H JI=N %k %k %k k % %k 0. 050 %k

~31%1H 31H g * * * * * * | 0.074 | 3k

3142 H 1 H [I=X * * * * % k 10.43Y | %

~3142 H 28 H g * * * * * * 10.307 | %

SI4E3 AL H I3 * * k * k k | 0.10 | *

~3143 H31H s * * * * % * 0.13 %

LD T (%, IND: BHERT) 2%,
1 2) BREHUS AT TiThn iz THIC L » TR L7 LD OB AR biz, (BEEEV E2E2MR)
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@ [ K AT : mBg/L
ﬁ*}{,% ﬁéﬂ&fﬂ,ﬁ% ﬁéﬁ‘yﬁgﬂ El @Uﬁ%%ga 54Mn 59Fe GOCO QEZI, 95Nb 134CS 137CS 144Ce 40K1>
I 21k bk |k ok | ok |k ok |18
oS R | k| sk | sk | sk |k ok sk sk |k
0409 A 10 B JI=A * * * * * * * sk 35
ﬁﬂﬂ?;ﬁﬁm Bl ok |k | % | x| x| x| x| x| 28
b&p,
CHNESATD | 5042 19 7 5 7 [on I WSO I WO NS BB IO MO B
I * * * * * * * * 41
51423 5 12 B I=A * * * * * % * % 15
- oA % % % * % %* * * 21
7K
3046 H 5 H E * * * * * % * * 17
et Ewy | SOF9H 10 H | E * * * * * * * * | 25
(R R RGE J OV
NEBACERESA) g0 10 0 50 | b | % | = | % | % | % | = | = | = | 26
3143 H 12 H R * * * * * * * * 31
3046 H 5 H HE * 3 * * * % * * 79
P 309 H10H | HE * * * * * * * * 84
H FIEIEILS
Yo I
7K 304£12H 50 | Mg * * * * * % * * | 109
3143 H 12 A s * * % * * * * * 89
TEIRTIE 3049 H19H | HE * * * * * * * * | 160
Sl
WIFEID | sitesmen | mm | % | % | % | % | % | % | % | % | 18
3049 5 19 B [ * * * * * * * * 96
ﬂ ‘ﬂjggfﬁ g | ok | ok | % | ok | ok | x| ok | x| 98
7k CGErEF) 1) 163 4 6 H JI=A %k %k %k %k %k %k ES ES 76
HEE * * * * * * * * | 108
IR 3049 A 19 H E %k % % %k * * % % 150
Ve
BV siEsnen | wm | x| % | % | -
E * * * * * k| 129

ED) YK, BRREETEERETTH B,
[k (&, IND: RS NT) 2#F£T,

E 2)
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@ +E BAAT : Ba/kg Bzt

ﬁﬂ% ﬁéﬂii’&,,ﬁ\\% EEE&EH EI @UE%%F*? 54Mn 59F€ GOCO QEZI_ 95Nb 134CS 137CS 144Ce 40K1>
Bl kP ok | ok % * % |83 ] %k | 580
304 4 H 13 H S - ' :
I * * %* * * * | 8.3 * 550
5045 7 4 H JI) %2 * * * % * | 9.3 * 580
FE AT T HE | ok * * * % % [ 89| % | 570
LS =8 * | x| % | % * * 9.8 ] % | 610
30410 H 11 H o : . ' . . . }
g %k %k % 0 0 ! 9.6 %k 560
514 18 10 JI=K * * * * % * [10.3] % | 590
FEs * * * * % * | 9.5 * 550
1A * * * * % % | 3.3 | % | 476
304 4 A 13 H o » . , g
HE | ok ! ! * % % | 4.2 | % | 521
304 7H 4R JIX * * * * % k | 4.3 | % | 540
+ | R HEE | ok * * * * % | 4.1 | % | 540
" BT Bl % | % | x| ok | ok | % | 4.6 | % | 562
b 30410 A 11 H S - - »
HEs * ; ; % % * 4.6 2 517
S14E 15 10 A IR * % % £ % £ 4.0 2 520
HEE * * * * % * | 4.4 * 518
1= * * % % * 1.3 | 12.1] * 700
304E 4 H 241 iy -
HE | % ! * * % % [11.3] % | 680
0% 74 10 B LA % * * * k 10.90]13.1] % | 690
Yoz s R | %k * * * % k[ 14.4] % | 640
M4 304510 F 16 B I=A % * * * % % | 88| % | 680
& * % % % % * 9.2 % 670
JI=A * * * * % % | 88| % | 680
3142 1 H 8 H
mE | % * * * < [0.46] 8.5 | % | 680

ED KX, BARKEMEEETH D,
w2) k] X, IND: B &EnT) 2%£9,
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& BEEY BT : Ba/kg 4

ﬁ*}{,% ﬁﬂii&/ﬁ% *%H‘yﬁzﬂ El {Euﬁ%&ﬁ 54Mn 59Fe GOCO 9521. 95Nb 134Cs IBTCS 144Ce 13111) 40KZ)
@%%ﬁ‘aﬂﬁmﬂlla T o o R e * * S 747

3w | FElts R | ok | ok | ok | ok | k| % * * |, 70.9

K sz /
méf‘ S04F10 H16 H| W | s | s | % | % | % | * % % |/ 65.5

=} /
AENHiTIT 506 75 2 B Lo %2 | sk | ok | ok | k| k| 0.019 | * /1 34.7

;f VTR g | % | ok | ok | % | %k | % | 0012 % 7 129.6
i 2

» 1%; m;? 0 SHAE| P | % | k| x| % | k| x| = x|/ |42.3

S| s Bl s |k |k o |k |k x| 7]68.0

S| o |stfE2HATA - , ,

Sl A& F B | x| %k | ok | x| % | % % * | 70. 1
THRTIR T !
ﬁ%m% 304FE12 A 10| HE | % | &k | k | % * * * * /| 64. 4

e | AR 304 12 A 10 H 12X | ok | ok | ok | ok | ok * % 65. 2

N N S RE | % | ok | ok | ok | ok | % * * | ) |61.7
A /
mJZ 304F12 A 4 H | E | % | sk | k| x % * % * |/ 70. 1
AL !

TR 20 457 H J1=1 | ok | ok | ok | ok | % * * /30,1

57 Bk |k [ | x|k | k| x| k| /290
E | et /

AV EITIRY T b

i@ - SIAE TH25 A | e | s | %k | % | %k | %k | 3k % % | 7 [35.3
Yer | oL 1 95 1 I=N | %k | % | % | k% | % |o0o010]| % |/ 33.8
e BT Eo ok | ok | % | % % * * k| 29. 7

2| s A DS D N S T N g

Yol o g | ok | ok | ok | ok | ok | ok [0.080 | % | |123.7
PRI T
M 314 1THI0H | & | sk | k| k| x| ok | ok * * | % [66.2
wn

Jo | Eaiw St 10 0 [1=1 % | % | % | % | % | % | 0014 % | % |53.2

LIS IS 2 B | ok | ok | % | x| x| % * % | % [5L2
Moz BT 215 1 H8E J1=1 S A O N S ™ % % | % |55.4
I B EE | ok | sk | sk | sk | ok | ok | 0.020 | %k | sk [52.8
A R T _ I i D R A R D - - B -

. R - ,
e A e B e B e — — -

»| & b x| s | |k |k |k ooz | x| ) |ase

P | R (30412 A 17 H !

M CEA I B B I T I % | 0 |542
oy JE 204 11 H 90 b Bl sk [k |k |k | ok |k ] 0.021 | k[0 42,7
i B39 A | sk | ok | k% | %k | sk | x | 0.030 | % | 40. 3

ELD KIRPTOERZHE LD TH 5.

E2) Kk, BARBAMEERETH D,

3 ] %, IND: BHERT) 2FKT,

H4) PR 30410 A 1 BIZIRANZEIE L-ER 24 5OEBTRIEL b | RERE o7, BFIC, Tk
OFENTTIR T R CHIE 2 3206 L 72,
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BA{ : Ba/kg 4

REL | BREUMS4 | BREBUEA B | JIEHE |2 Mn |*°Fe |®°Co [9°Zr |?°Nb| ¥Cs | ¥Cs |[!MCe | BTV | 1KY
TR T 504 4 7 20 H oo %P ok | ok | ok | ok | ok [0.18 | sk 140. 7
%R Hr e * * * * * * 0.16 | * [ 136.4
ﬁ]ﬁ?mﬁg S0 4T A | PE | x| k| % | x| x| % [0.069] % 1330
% i}?”mim 304 4 H2TH | e | % | % | % | %k | % % | 0.15 | * 134.4
Moz gt 304 4 8 16 B 17 % | sk | % | x| sk [0.020]0.19 | % 151.0
4 s | ok | ok | sk | ok | % 10,19 | % | 143.7
3 )11H 304 4 5 24 IR k| ok | ok | ok | sk % 0.093| * 105. 2
JI R | sk | ok | ok | ok | sk k |0.112| % | 136. 1
I8 k| ok | ok | ok | sk % * % | ok | 45.9
0 A2 e | ok | ok | sk | ok | % %k * % | sk | 45.2
I8 I I B B * * % | ok | 47.4
3 )11H S0 T LT wolox | ok | ok | ok | % * % % | % |46.9
] 153 k| ok | ok | ok | sk * * % | %k | 47.0
W0 R | ok | sk | k| % % k |0.018| * * | 44.9
I8 k| ok | ok | ok | ok % * % | ok | 47.7
JE ST HEE | ok | ok | ok | k| sk % % % | k| 4401
7L mo s [k | x| o | x| % |oo015] x| % [47.5
S0 AR ILH B/l ok | ok | ok | ok | % * * % | k| 45.3
1= | ok | ok | ok | sk * * % | %k | 46.0
B SO TALH Mg | % | ok | ok | % | % * * % | * 4401
e L e A e T

B .
[I=X * | ok | ok | ok | ok * * % | % |46.8
LA H HEE | ok | ok | ok | ok | sk * * % | % | 45.5

E 1) BT OHEALL, Ba/L TH D,
7 2) YKk, BRIEHEEFETH D,
3 kg %, IND:BHEEnT) 2FE7,
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